1963 4EHURHE [2] 3 [2] 4k

PO,V3+D) & L. 1% xiihiET 5,

L SIZOVWTIEEXT. P,QRICOVWTE XS, PQ=2++2,QR=2-2ThH D75,

P/2b R ETORERMT (2+v2)+@2-+2)=4

P/b R ECORMIEMIT (2+2)-(2-4/2)=2/2

PIIEETH D25, RIZPATLE LI 242 O &4 OO F—F Y RIOMER L2 8 <,

—JF. RESOBGREEZ D, RS=+/3-1T. SiIxdh F&#@E< M5,
RIZ—v/3+1=y=+3-10#PHIC2 TR B,

PlEAEE L. RSB @IHARRTS L. FEiDOmb, ) r
A9 1) @%%@%ﬁ%f%ﬁmmﬁzzc%rz(e_sine) THY . A

LRlPR4:gz,LRZP&:%,4R5PR6:%“C“3?>573>%\ A

1.42 .[gﬂ_ﬁJ_l.M ‘(Z—EJ—E‘(Z\E)Z .(Z_lj
2 3 2 2 3 2 2 2

:1—367z—4\/§—§7r+4\/§—27r+4:§ﬂ+4 """ &)

y

x2 +{y—(\/§+1)}2 =16
x? +{y—(\/§+1)}2 =8
y=+3-1




